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PUBLIC ADMINISTRATION
PAPER —llI

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
guestions are compulsory.

1.  Which of the following are true about Kautilya ?
() He was philosopher advis® king Chandragupta Maurya.
(i) He has given saptanga theory of state.
(i) Hejustified absolutepowers of the Monarch. B
(iv) Arthashastra is combination ofisnce of wealth andcience of government.
Select the correct answiay using code given below :

Codes :
(1) (i) and (ii) (2) (i), (ii) and (iii)
(3) (), (i) and (iv) @4 (), (i), (i) and (iv)

2. Which of the following are the features of New Public Management ?

(i) Emphasis on the adoption of managemahctices of private sector in Public
Administration.

(i)  Promotion of competition within public sector.

(i) Emphasis on results rather than procedures.

(iv) A shift away frommanagement to policy. ,
Select the correct answer from the codes given below :

Codes
@) (®, (i) and (iii) (2) (i), (i) and (iv)
(3) (), (i) and (iv) 4) (), (i) and (iv)
3. Match List — | with List — II. Select theorrect answer from the codes given below :
List — I (Authors) List — Il (Books)
a. Frank Marini i. Towards dew Public Administration : The
4 Minnowbrook Perspective
b. Vincent @strom ii. Reinventing Government
c. David Ojborhe &iii. The Intellectual Crisis in American Public
Ted Gaebler Administration

d. Richard(T. Mayor iv. Public Management in the Interconnected World :
| Essays in the Minnowbrook Tradition

Codes :
a b C d
@ i ii v
2) i ii i v
3) ii iii [ v
4) i v ii ii
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1. Fifeca % IR | e o & 1 9e & 2
() & QU I Wi T SRS TeARHR o |
(i) ST T H FEn (g |
(i) 3T TS Y T VfeRT B =ArATEad T E |
(iv) 3reiTE g = 3 Smee fosm o1 Saem € |
I 58 T Fei B FerEd F Wel ST HN T HINT ;

HT
(1) (i) 3 (i) (2) (0, (ii) & (iii)
(3) (), (i) 3 (iv) @) (@), (i), (iii) 3T (iv)

2. frefafed § 9 SH-9 769 @i o 5t fegmd § 2
(i) TS & i verrE wiHAreT i Eieh JeET B 310 WX S ST ¥
(i) eI & % TR UITANTAT i S@ram a7 |
(i) TfskaT3T R 2ToeT IROMHT T 96 ST |
(iv) Ve 9 it st 37 TR |

T 15T el H F el IR A1 94 T
ETE
@) (), (i) 7= i) (2) (i), (iii) 7= (iv)
(3) (i), (i) T (iv) 4) (), (iii) T2 (iv)
3. A — |9 g - || ¥ gferd Y | i ST T %l | Wt ST N 9aT Y
Tt — | (crE) Tt — 1| (TE)
a. e af i. ZATed U g Ulsoteh TSR : § fHis yuiaea
b. fordie aiegm | i, frgfeT T
c. TfOE 3TEEM W0E 38 TaeR i, T SIoiogatel ShIsiad 3 STHNEA st TeHFeeH
d.” f=Eed 9w iv. UfseTh HASTHE 3 § TXHHRE dog : UAS ¥ T
- | =t 2Shem
FHT
a b c d
@ i i i v
@) i i Qi v
@) i i i v
4) i v i ii
J-14-16 3 Paper-Ill

www.examrace.com



4.  Which of the following statements are correct regarding the Third Minnowbrook
Conference ?

(i) It was organized for gbal concerns like globalm®rism, economy and ecological
imbalances.

(i) Its focus was on structural and functional reformi€ Generation Reforms).

(ii) It was global in approach focusgj on global challenges and problems of Public
Administration.

(iv) It was chaired by H. George Frederickson.
Answer by using codes.

Codes :
(1) (), (i), (iv) (2) (i), (i), (iv)
(3 (), (i), (iii) 4) (@), (i), (iv)

5.  Which one of the following is a faat of an informal organization ?
(1) Legalstatus
(2) Shared values and common standards of behaviour
(3) Primacy of structure
(4) Permanence

6. Match List — | with List — II. Select theorrect answer from the codes given below :
List—1 List—1II
(Thinkers) (Criticism of Elton Mayo)
a Daniel Bell I Subg'timﬂng therapy'for democracy
b. RichardBendix . Gegjeralizinghe results of Hawthorne study
o James Hoops ili. § Quality of research was poor
d S.D. Levitt iv.  Adjusting men to machines
Codes :
a b c d
@ iv i i
2 iv i i iii
3 i i [ )Y
4) i v
7. Who among the following has given the conceft routinization of charismatic
authority ?
(1) Max Weber (2) Robert Merton
(3) Oliver Sheldon (4) Philip Selznick

8. In order to address the difficulties due lack of coordiation among various
governmental institutions/agencies, the Third Minnowbrook Conference introduced a new

concept of

(1) boundarspanning (2) Inter operability

(3) Interdisciplinary (4) Supportive collaborative research
Paper-Ill 4 J-14-16
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4. Wﬁﬁgmaﬁm%wﬁﬁmﬁﬁaﬁmﬁﬁwaﬁ%°

() TTHT ARSH ATTH SAhaE, AT T TRAD ST I8 ATVTh GIUABRT P
ot foram TR o |

(i) TR A GTEHTS T FHETHS GERT (T Ti@t & GURT) U Higd o |

(i)  TTPT SRTHIVT SATTaH o7 TAT TUHT L Al TG T ATvaeh AT T FHETS W Higd
o |

(iv) =T TEHEH B AT TS heRwad = & o |

T 53 T Fe F Ferddr F Wel ST HN T HINT

%

(1) (@), (i), (iv) (2) (i), (iii), (iv)

(3) (), (i), (iii) 4) (@), (i), (iv)
5. fr=fefaa § @i 9 sHioeiies G o faed ¢ ?

(1) U TR

(2) =HUER % TET AOIUE AR TR g
(3) T H reTHRAT

(4) T
6. gl — | gl — || ¥ GAferd FIT | A T e ot Ferdr & Tel ST B 957 B

T — | =R — I |
ERLED) (Tee BAt &t FHTAEHAT)

a. S e i. S % o T 3ER

b. RS st i, EW%W%WWW

c. g T 3T S HHSIY TOTET

d. TwEEL e iv. HTS 1 AR & | A

FT !
a b C d

@ v i i

@) v i i i

@) i i i v

@ i i v

7. = H 9 fordeh gRT IHhINGh T % AcqehiuNg hi YU i oI T ?
(1) ¥eF o) (2) e T
(3) siffereR Hee (4) frfer Sosite

8. fafF TRl Hem/AT R0 & &g TH-aF i HHl & HRUT Scq=T GHES & GHEH 7 &
fore e sy Teiet 3 hie T STaROM URET & € 2

(1) drmn fagia (2) 3R TETeHRd
(3) R formares (4) e FeATe ST
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9.  Which of the following is not the mabd to keep the employee’s morale high ?
(1) Creating an ownership feeliagnong employees of the organization.
(2) Recognize and celebrate significenatrk achievements of the employees.
(3) Restraining employees from umidding any community service.
(4) Train employees to develop friendly culture and positive attitudes.
10. The processes that account for an individual’s intensity, direction and persistence of effort
toward attaining a goal in an organization is called
(1) Direction (2) Control
(3) Motivation (4) Leadership
11. Consider the following statements regaglithe importance of craty in decision-
making :
() Rational decision maker needs creativity
(i) Creativity is ability toproduce novel and useful ideas
(iif) Creativity allows the decision maker toore appraise and understand the problems.
(iv) Creativity has three components perise, skills and task motivation.
Select the correct answiay using codes given below :
Codes :
(1) (i) and (iii) (2) (), (i) and (iv)
3) (), (i) and (iii) @ (), (i), (i) and (iv)
12. McGregor’s classic ‘The Humaide of the Enterprise’ is
(i) awatershed in the haty of management movement.
(i) based on his personexperience of industry.
(i) a most original and seinal book on industrial psychology.
(iv) treatise which has a profound inflleenon management education and practice.
Select correct answer liging code given below :
Codes :
() (i) and (i) (2) (i), (i) and (iii)
(3) (i), (i) and (iv) (4) (i) (iii) and (iv)
13. Which of the following reasons is not tjustification for delegated legislation ?
(1) Certain emergency situation régs speedy and appropriate action.
(2) Parliament has no time for the consadien of complicated and technical matters.
(3) Certain matters covered by delegated lagj@h are of technical nature that require
handling by experts.
(4) Delegated legislation facilitatesdaprotects the libeds of the people.
Paper-Ill 6 J-14-16
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9. Ty=faifed B ¥ wiF-dt fafyr wHemiat &1 Bt Sar a9 W@ & el € ?
(1) TS % HHANET § e 1 916 e~ AT
(2) FHARET Bl SoorRa-1a STATSAT T T YT FHAT SR SHB! T9IET FHAT
(3) AT gRT bl QRTE Qe fohdt ST | S XheT
(4) HAYUT T TAT FHRITF ST foTehiad - | HHARET i WTRT ST

10. et TeA H e Sl W & o0 Uk HHER! & Wl o WedT, S9m 37R ggar b 37 &
TITShaT T T et € 2

(1) Feem (2) fior
(3) athmRor (4) g

11. T FTOT - GHeiicrar o Feed o Ty H HeEteiad el W e Y
()  diches o7 A7 ATl bl GoTeiierdT i STed Ugdl & |
(i) GoFRierar Fali= 31 ST faaR wfauied o< &t angar & |
(iii) mﬁﬂﬁaﬁﬁaﬁwﬁ%%w@wiw R 3N ¢ Bl & ¥ g | TeH
|
(iv) ToTRICTaT % A 92 & — TaeiudT, Hivrer 3fiX % URoT |
T ST 7T F2t HT ITANT A §T Tl ST BT T HIC ;

FE
(1) (i) 3 (i) 2 (), (ii) 3 (iv)
(3) (i), (i) = (iii) @ (0, (i), (iii) 3T (iv)

12. THIR I Afafed T ‘T g TS 3 § TS €
(i) VA TSI % e i Heeqor geT
(i) ST % 39 AR SFYal T eI
(i) 3TN FAIfaR T Taitss Hifelsh 3R FRIHd 7&deh ¢ |
(iv) TH qeh ST v f9TetT 3T ishan U% TTexT 3T U |
TeAfeTRae et 1 TEnT Y g el 3T B T B
T
1) (i) (i) (2) (), (i) & (iii)
@3) (i), (iii) 3 (v) @) () (iii) 3% (iv)

13. fr=fafaa & @ SH-91 SRoT vt faum & oo srevaes 7@ € ?
(1) ot T feafa | ga oo Stad HRaTe Sl SewgehdT &l € |
(2) ifeet aen dehten! qel W o R & ford §EE & I qHg T T |
(3) VRIS fae & wnfhet F fawa dehiehl ey % & e e faes sr foar s
TMET |
(4) VTS forem ST bt TSt B G ST & T ST T HT € |
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14. Leader-Participation model of leadershgmleveloped by which of the following ?
(1) Robert House (2) J.P. Kotter
(3) Victor Vroom and Yetton (4) R.KahnandD. Katz
15. Which one of the following statements abdvanagerial Grid Theory of Blake and
Mouton is false ?
(1) Inimpoverished style managers héowe concern for both people and production.
(2) Inteam management style manad®ave high concern for production only.
(3) In country club management style mgea have high concern for people and low
concern for production.
(4) In middle of the road style managers maintain a balance between company goals and
workers’ needs.
16. Herzberg's ‘Hygiene Factor’ of motivation means which of the following ?
(1) Sanitation (2) Maintenance
(3) Responsibility (4) Challenges
17. Which of the following is not among theluas as tests of good management advocated
by Millet ?
(1) Satisfactorgervice (2) Responsibferformance
(3) Goodgovernment (4) Professionally approved
18. Assertion (A) : Administrative law is codified likehe Indian Penal Code or the Law of
Contract.
Reason (R) :Administrative law is the most outsi@ding phenomena in the welfare state.
Codes:
(1) Both (A) and (R) are correct and)(R the correct exphation of (A).
(2) Both (A) and (R) are correct but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
19. Match List — | with List — II. Select theorrect answer from the codes given below :
List — | List—1I
(Ideas) (Authors)
a. Bureau Eha'ping i.  Robert Denhardts
b. ERG Motivation Theory ii. Lord Hewart
C. New Despotism iii. Patric Dunleavy
d. New Public Service iv. Clayton P. Alderfer
Codes :
a b o d
@ v i di i
(2) i v i
3) i i v
4) v i i i
Paper-Ill 8 J-14-16
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14.

15.

16.

17.

18.

19.

I T AT A it o | foreh 5w fompiaa e o & 2
(1) I =T (2) SO HRX
(3) o 9w wog Iz (4) IR FHM U . HiA

TAH SR Tled & HASIREe e FasTd % &Y | i 91 F9- Toid & 2

(1) TR Solt § Yeehi i AfeRial 3 e & Uid A i @l € |

(2) THE VU el | U i heel ScaTe | ST B9 el § |

(3) 2l oIl HASTHE IreAt | Tarweyehl ol AT o Uiet SOeT 3T Scare o Ui s o &ielt € |

(4) ﬁ%?%aﬁmaﬁgﬁﬁﬁmm%mﬁaﬁrwrﬁaﬁma%ahﬁww
e |

SATORON o Go | &STenT o TR Tl SR’ o1 3 Fteigd 4 9 . & ?

(1) = (2) ergmm

(3) IR (4) =FttaEt

faeie 7 Fefafead ° 9 e goemy o WieToT % Jodi § |fmferd et far & 2
(1) Q=SS gar (2) ITRER foRe

(3) 3T WHR (4) QIS e | W@iHd

AT (A) : TR fafr 1 AR <8 Wiear e ot @ fafy % 9o Feag fe e |
% (R) : WRITEH fofy seammepit 1o § Taifaes qeweo) 92 & |

A

(1) (AT (R)SHT T&t € d1 (R), (A) S Tel A ¢ |

(2) (AT (R)SHT T8t €, R (R), (A) N T&t AR &l ¢ |

(3) (AT E, W< (R)TAT & |

(4) (AT €, R (R) Tl ¢ |

T — | 1 G — || % T AT AT | e o T e Y e & T ST B wAT A

= - | = - I
(o) (crer)
a. U 3THR T i, TEC Sweed
b. Eemsh Fhwwom e il e R
c 9 AR jii.  ofcew At
d. 9 A Far iv. Folged . 3o
72 |
a b c d
Q) v oo i
(2) v i i
3) i i i v
4) iv i ii
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20. ‘The Idea of Digital Era of Governanco®EG) is linked to which of the following ?
(1) James M. Buchanan (2) Dennis C. Mueller
(3) Patrick Dunleavy (4) Gordon Tullock
21. Which one of the following is the basig f@eation of Prime Miister’s office ?
(1) Resolution by the Cabinet
(2) Order of the President
(3) An Act of Parliament
(4) Allocation of BusinesRules (Govt. of India) 1961
22. Which of the following statements regarglithe Comptroller and Auditor General (CAG)
are correct ?
(i) The CAG can be removed from the office in like manner and on the like grounds as
a judge of the Supreme Court.
(i) The CAG is administered oath as p&t 8chedule of the Constitution.
(i) The expenses of the CAG office areached upon the consolidated fund of India.
(iv) The reports of the CAG relating the accounts of the state are submitted to the
Governor concerned who ensures its placement before the State Legislature.
Select the correct answer from the codes given below :
Codes :
Q) (), (i) and (iii) (2) (i), (i) and (iv)
3) (@, (i) and (iv) 4) (@, (i) and (iv)
23. All India Services (Conduct) Rules, 1968 amended in 2014 include which of the
following ?
() highethicalstandardsintegrity and honesty.
(i) political neutrality
(i) accountability and transparency
(iv) courtesy and good behaviour with the public.
Select the correct answer from the codes given below :
Codes :
@ @, (i (2) (), (i), (i)
(3) (@), (i) ,(iv) @) (@), (@), (i), (iv)
24. Which of the following are the functiomms the Chief Secretgrof a state ?
()  The Chief Secretary is the chigffthe Civil Service in the state.
(i) The Chief Secretary acts asecretary to the State Cabinet.
(i) The Chief Secretary repredsrthe state in Zonal Council.
(iv) The Chief Secretary is the pecipal advisor to the Chief Minister.
Select the correct answer from the codes given below :
Codes :
@) (), (i), (iv) (2) (i), (i), (iv)
(3) (), (i), (i) @ @), (i), (i), (iv)
Paper-Ili 10 J-14-16
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20. ‘vma H fefstect 31 @1 foar fefofad & 9 fog @ arrg & 2
(1) <9 . gEE (2) <FeT L goor
(3) e seAal (4) TIEA Toedth

21. UEHEE HEeE (PMO) % g 1 Heifhd § & HiF | U STER € ?
(1) wEHUse 1 uerd
(2) Al BT A
(3) TR HA
(4) YRA THR & HA e Fam (1961)

22. e U HETehET Wikt o Tay | FEieiad § ¥ SiF-9 T 6§ ?
() 9RT % e e Terei@n TieTeh i 3T U5 ¥ hael dT Ufd ¥ 3R 3= SRl W &2
T Feha & 57 A T 37 9 STeRT W Ssaaw =rarerg o =TT S g2 ST § |
(i) Teeh Ud HeToRaT WieTeh T HiOUM i TERT TG % SFER 99 & S § |
(iii)  F7Eer Ue e WieTe & e % oI MR o Wt iy § i gt € |
(iv) 7 e Hereiar Tiietsh & T & oiErel Gal Uidesl ol 39 I59 o IoIuTel & Tt
TR TSR ST ST 3eh! 53 & [aaH-Heet & THe] T GHRad S |
e 53 T P2l Bl TErEar Gt T BT II P
FT
A ), i) 3 (i) @) (i), (i) 3 (v)
(3) (i), (iii) 3 (iv) 4) (i), (ii) 3R (iv)

23. 3Ifger R Far (3MeR0T) Femmee, 196851 2014 F9ifud fu M €, & f=fataa & 4w
oA & ?
() 3= Afds TFgUs, GeaiEar 3T SAMRIH
(i) VTS qewmar
(i) STATRE 3R IR
(iv) ST % 91 BT ud 37T FaER
e 5T 7T P2l i 7eE ¥ Tel ST BN T DT

FT
(1) (), (i) (2) (), (i), (i)
(3) (i), (i), (iv) (4) (@), (i), (), (iv)

24. frfatad 5 @ S 5T % g |iad S/ /g § 2
() 7= afaa T ot fafaet Tar &1 e aar e |
(i) 7= |faa Tog &1 FETsAE gted g g |
(i) = At g uRug ® 5T S UidfHre R € |
(iv) 7= afaa g W 1 THE TesHR § |
T 57 T8 P H FeId F Fel SR BN T HINT ;
_—

(1) | (i), (iii), (v) (2) (i), (i), (iv)
3 (). (i), i) 4 (), (), (i), (iv)
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25. Article 263 of Indian Constitution dés with which of the following ?
(1) ZonalCouncil (2) Inter-Stat€ouncil
(3) FinanceCommission (# Minorities Commission
26. Assertion (A) : The collector has been reduced te tiole of target-chaser and a fire-
fighter on behalf of the government.

Reason (R) :The multifarious activities perforrdeby the collector make him almost
indispensable, but at the same time, afske him an over-burdened functionary of
the district.

Codes:

(1) Both (A) and (R) are correct and)(R the correct exphation of (A).

(2) Both (A) and (R) are correct but (R)not the correctbglanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

27. Which of the following are thstages in designing training ?

() To find out the training needs of the organization.

(i) To formulate a training policy whitwill meet the needs of the organization.

(i) To evaluate the financial and megial resources that may be required.

(iv) To reduce employee turnover.

Codes :

() (i) and (i) (2) (i), (i) and (iii)

3) (@, (i), (i) and (iv) 4) (), (i) and (iv)

28. NITI Aayog s :
(1) a staff agency (2) aline agency
(3) an auxiliary agency (4) a constitutional agency

29. Which of the following are the recommendations 8% ARC in its report on local
governance ?

(i) Creationof aDistrict Council.

(i)  Autonomy of panchayatsith regard to their personnel.

(i) Mergers of DRDA with Zilla Parishad.

(iv) Establishing a local body Comdsman for a group of districts.

Select the correct answer from the codes given below :

Codes :

@) (), (i), (i), (v) 2) (), (iii), (iv)

(3) (@), (i), (iv) (4) (), (i), (i)
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25. 9RA % GaUM % w8 263 H HfcRad § § fhad Few & ?
(1) & aRug (2) eRIIE uREg
(3) foxt emam (4) STTHEIF AT
26. AWMU (A) : Folde H JHH o8d I & T 9 dTet T2 THR 3R F IEere o
S ITet % FTd e W TE E |
% (R) : Foige? 511 fomied sgemard niafafuai 3 5@ o it s fean &, fbeg a4,
39 7ot 1 U SR § 7R st ot o fgar €
- T
(1) (A)T (R)3H @&t & @2 (R), (A) i &8t A |
(2) (AT (R)SHT Wt €, W] (R), (A) I W&l 4w T8l € |
(B) (AWrg, "I (R)T™AE |
(4) (AT E wG(R)FIE |
27. TreAfeiad | I § =07 € ST HReTor St WeE § A § 2
() T bl UISTETOT- STERAHATS T Ul ST |
(i) T T TSTETOT ST M STE HieT i STevEshard i i ST 9o |
(i) =i T & wfifaes TETEET B Jodiw
(iv) FHHOR! SfETET T T
ffaiad el § ¥ Tel TR Al 99 HI
B
(1) (i) (i) (2) (), (ii) T (iii)
(3) (), (i), (iii) 7@ (iv) (4) (i), (iii) 7= (iv)
28. Hif AT
(1) UF EE AT (2) T A SAHHOT
(3) T HEEH FAHIT (4) U GouTHE ATTHIOT
29. FAfcfad § ¥ ®F O I A e ufqess | fFdi wenafie gur S st fawier § 2
() TSTe FEiaet & e
(i) Ul Bt 39 HIHHT & GaY H Eadl U ST |
(iii) <t o < T oo aRw § fer
(iv) el & U T & S Har SAiaedia & T
T 53 72 e i FerdT ¥ Tel TR BN T B ;
%
) (@), (i), (i), (iv) ) (), (iii), (iv)
(3) (i), (iii), (iv) 4) (), (i), (iii)
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30. Co-ordination and determination of standaid institutions forhigher education or
research and scientific and technical institutions is mentioned in which of the following
List of the Constitution of India ?
(1) Listl—Union List (2) List Il — State List
(3) ListIll — Concurrent List (4) Residuary Matter

31. 95" Amendment Act, 2010 extended the reaéipn of seats for scheduled castes and
scheduled tribes in the Lok Sabha and Stasemblies for another Mars is upto 2020
by amending which one of the following articles of Indian Constitution ?
(1) Article 330 (2) Article 332
(3) Atrticle 334 (4) Article 336

32. The Lokpal and Lokayukta Act, 2013 prowvedéhat the chairperson of Lokpal can be
appointed if a person
() is or has been a Chief Justice of India.
(i) is or has been a Judge of Supreme Court.
(iif) is or has been an eminent person.
(iv) is or has been a pers having special knowledge aespertise of not less than 10

years in certain specified fields.

Select the correct answer from the codes given below :
Codes :
Q) (), (i) and (iii) (2) (i), (iii) and (iv)
3) (), (i) and (iv) 4 (@, (i), (i) and (iv)

33. Which one of the following is a direction given to the Union Government by the Supreme
Court of India on police reforms ?
(1) To establish a Police Establishment Board
(2) To outline the procedures for selection of Director General of Police
(3) To constitute National Security Commission
(4) To separate law and order ftina from the investigating function

34. Mr. X whose date of birth is"2March 1955 is appointed asmember of UPSC or'2
March 2016. Upto which of the following datee can hold office as per the current
constitutional provisions ?
(1) 1-3-2020 (2) 1-3-2021
(3) 1-3-2022 (4) 1-3-2023
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30.

31.

32.

33.

34.

IR % Fiaee & Fefcfad § & 50 got § o9 Seiitrs Jwnell sear U ud dReh
AT Teh-IToh! TET3T | HFGUST o GH- AT 40T T Sooid fohar Tam & 2

(1) gt | — e g (2) I — TS

(3) Il — gHadr ge (4) 3@t AmEe

054 ey 2ifufm, 2010 gRT 9YRA & WiagH & H=fafad § 9 g o =g § g9 sl
ATHTT 3T T TTam-awrsti o g Siiadi e SHsiaar & feld STReIvr i e 10 aut
T et 2020%, o Y K T € ?

(1) =T 330 (2) =T 332

(3) 3rT=% 334 (4) 3IT=% 336

AT SR At Afafam, 2013 Suafd ar & fo clishuret &t 3Teael U aafod i e
fopam T T € ST

() 9RA 1 G AR AR |

(i) SoaH <A S A E A @E |

(i) viaftea AT M @Y |

(iv) T Tt fofere &= & 60 @ %9 10 99 1 fauie T X fosiosar o & a0 @ e |
T 5T T et ¥ TE I H T BN

% :

(1) (i), (i) = (i) 2 (), (i) 3R (iv)

3) (i), (i) 3R (iv) (4) (), (i), (i) =R (iv)

T GURT % 9 T YRA % Seadq = §RT T GLhR i Fefefad 9 & 91 Haer & mn
g2

(1) YT TIOAT SIS i IOHT HEAT |

(2) T TR o TF Shi WishaT i TN ST |
(3) A T SN I TS HET |

(4) T AL % B B S FRAH GAE HEAT |

ey v f5ient st Tater 2 91, 19557, =i 2 A4, 20163 T oiish JaT 3T 1 q5e g
T ST €, 9% aHe G aHE & e HEihd ¥ § {69 oty 9% 39 U W w®
THAT & ?

(1) 1-3-2020 2) 1-3-2021

(3) 1-3-2022 (4) 1-3-2023
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35. Rashtriya Ucchtar Shiksha Abhiyan (Natibirgher Education Mission) aims at which
of the following ?
(i) Providing greater autonomy tmiversities as well as colleges.
(i) Performance based funding tayher education in ate universities.
(i) Improvement in teaching-learning quality and research.
(iv) Bringing about reforms in the isting governance and regulatory systems
Select the correct answer from the codes given below :

Codes :
@) (@, (i) and (iii) 3 (i), (i), (i) and (iv)
(3) (i), (i) and (iv) (4) (i) and (iii)

36. An intentional course of action followed ks government institution or official for
resolving an issue of public concern is known as

(1) Public law (2) Public policy
(3) Publicstatement (4) Strategy
37. Match List — I with List — Il. Select theorrect answer from the codes given below :

List — I (Concepts) ~ List =11 (lllustrations)

a. Policy Implementation i.  Hhg police j bulding prisons

b. Policy Impacts (outcomes) ii. gter arrestiand/conviction rates

c. Intended (outputs) iii. Crime rates,jfegling of safety and security

d. Unintended (outputs) iv. Greater publigassistance usage by prisoners’ families

Codes :
a b c d

@ i i iiiv

2 i i v

(3) i v

4) i v

38. Which one of the following is not a oy typology developed by Lowi (1964) ?
(1) Narrowly concentrated poes (2) Regulatory policies
(3) Distributivepolicies (4) Redistributive policies

39. Stuart S. Nagel has identified four key edts to policy analysis research. Which one of
the following is not one element ?
(1) Goals (2) Outcomes
(3) Methods (4) Profession of Policy

40. Assertion (A) : Policy making is the ultimate responstly of the Minister in India.
Reason (R) :The President frames rules for tanduct of business in the government.
Select the correct answer from the codes given below :

Codes:
(1) Both (A) and (R) are correct and)(R the correct exphation of (A).
(2) Both (A) and (R) are correct but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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35. g I=ee] Rl AR o 32 Fefeiea § | e ?

Q)
(i)
(iii)

TRlfo=Teral qur favafamnetal s ST WEdr 3 |
T {ovaierameral 1 =0 f¥1eT & Tou [oaree efrenfia ffkesor
3TEATO AT HIG 2l TOTERT Tel STHEH H GER HAT

(iv) =T 3T e 6 HisET votedt § guR
T ST e ot e ¥ Wel ST H FI DT

%
(1) (), (ii) T (jii) (2) (), (ii), (iii) & (iv)
@3) (i), (i) 7 (iv) (4) (i) = (iii)
36. ST 9 Getid TEEIST o THYE o [0 GUhRl GEIMT A7 SN §RT &bl S ol Ulese
HNETS i e T H ST ST & 2
(1) e fafy (2) e i
(3) i FA (4) =& T
37. g - ma:ﬁﬁ |1 & gHfer =ife | A fT 7T el | Hel T T T T |
—1 =t - I
(W) (F=em)
a. Fifd wEEaE . q e, Stett st
b. ifa wma () ik ﬁman“ra:ﬁr ﬁaT
c. zr=a (Frid) i, STORTY X, G H
d. 3Hft=® () iv. hiEal % aRER gRy S AT W ST
%
a b C d
@ i i i v
@) i i Qi v
@) i i v i
@) i i v
38. Ty=fafad B & =1 oiell (1964)3RT fosiad =ifd aiieheor =& € ?
(1) Wphaa Gtsd Afar (2) faframes St
(3) faervir it (4) TA: foazone it
39. T UH. AN A i foveIduT Iy % IR W el i UedH @i & | Heteiad § | S uar
S Fed Tal & ?
(1) == (2) uRomg
() usfa (4) Hfa= gt
40. e (A) : 9Ra | Aifq fuor § T w5 et sifaw e |
A% (R) : TR % S Yo & 28 Teard gRT AT 57 € |
=i e b FeradT | Wt ST 1 94 Hif ;
% :
(1) (AT (R) AT & € 72 (R), (A) T T& AR E |
(2) (AT (R)3HT Tt €, W= (R), (A) HF Tel = 781 € |
(3) (AW, R (R)Te ¢ |
(4) (AT &, R (R) W& |
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41. Which one of the following methods of datallection helps in dtecting supplementary
information about the informant’s personal characteristics ?
(1) Questionnaire (2) Interview
(3) Projective Techniques (4) Content Analysis
42. Arrange the following statements depigti questionnaire construction procedure in a
sequential order :
()  Select the question typ@@decide on question structure
(i) Organize the questions into a logical order
(i) Select the best wording for each individual question
(iv) Pretest the questionnaire and revise if necessary.
Select the correct answer from the codes given below :
Codes :
@) (@, (i), (i) and (iv) (2) (), (i), (iv) and (i)
(3) (@), (i), (i) and (iv) 4) (i), (iv), (ii) and (iii)
43. Assertion (A) : Stratified sampling depends upon simple random sampling and with
another method calculated t@irase its representativeness.
Reason (R) :Homogenous universe requires a smakemple than does a heterogenous
sample.
Codes:
(1) Both (A) and (R) are correct and)(R the correct exphation of (A).
(2) Both (A) and (R) are correct but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
44. “Science begins with observation and musimately return to observation for its final
validation.” This statement was made by :
(1) P.V.Young (2) W.J. Goode & P.K. Hatt
(3) F.M. Kerlinger (4) H. Russel
45. Good usable hypotheses should be
() Related to a body of theory
(i)  Empirically testable
(i) Closesto things observable
(iv) Relatedto availabk techniques of research
Select the correct answer from the codes given below :
Codes :
Q) (), (i) and (iii) (2) (), (i) and (iv)
(3) (i), (i) and (iv) 4) (), (i), (i) and (iv)
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41. e Wehol & HEfRad § & w9 fafy I gaemRar st ot & R § 1w
SRR Th i § Aeg e & ?

(1) v (2) WETHR
(3) eI Tehh (4) ere] foweroT

42. YAECA HEIOT UTsAT T Tl S Aot (T el bl ShiHeh ®Y H Sared HY
() W9 % UBR I T Y R T G X o1 of |
(i) Vo T Ak Y § AT HY |
(iii) T YU U % I FeH Il BT I Y |
(iv) Vel g ST Y R A SNMEvT &l ar ST TN HY |
T 5T TTT et 7 | HEl I H A A
FT
@ (@), (i), (i) 2R (iv) @ (), (iii), (iv) 3R (i)
(3) (), (i), (i) 3 (iv) (4) (i), (iv), (ii) 3 i)

43. AfHE (A) | THIFT UdeaT T AGra® Aaad- & A a0 GHId Sl T0FT 9 R et
& ek gqeh! WAHTRdT § gl S 5T T |

7% (R) : YUY 37 87 T FAUAEY S 85 o STe S Ha i oRed TEd ¥ |
T4

(1) (A T (R) I @& € 7 (R), (A) 3 T& AT E |

(2) (A) T (R) 3 Tl € W (R), (A) % el e Tl € |

() (A) T e W (R)Td & |

(4) (Ao g, " (R) T T |

44, “ToRI 1 AW el 9 Bl € R aq T o it 38 o1=d: 3Taaiieh &l 3T
A BT & I” I8 e Feifehd § 9 fonge & ?

(1) 3 g (2) T . TS T UH, 7T
(3) THTH FAR (4) W= wHA

45. TH TS UG H Al ST Gehed T STt (feiad § 9 hi=-91 Tel gn 2
() Tomrd Freem @ e
(i) STias ®9 F wieruig
(i) s g T % g e
(iv) Y & for SucTey dehmiehl o Taiferd
I {58 T Fei B FerddT F el SR H TG HINTT

T
@) (0, (i) = (i) (2 (), (iii) 3 (iv)
(3) (i), (iii) = (iv) @ (), (i), (iii) 3R (iv)
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46. Which one of the following methods of tdacollection is independent of people’s

willingness to report ?
(1) Interviewmethod (2) Observatiomethod
(3) Questionnaire method (4) Projective techniques

47. According to Roman Schnur, the emergeméean emphasis on comparative public
administration in America can be attribdtto which of the following factors ?
(i) the influence of German immigration since about 1933.

(i) the translation ofhe writings of Max Weber.

(i) the translation of the writings of Karl Marx.

(iv) final entrance of the USA into world politics after 1945.
Select the correct answer from the codes given below :
Codes :

) @), (i), (i), (iv) 2) (@), (i), (iv)

(3) (), (i), (i) 4) () (v)

48. Development, according to Riggs “ is a prexef increasing autonomy of social systems,
made possible by rising levels of diffraction”. thme light of this, select which one of the
following is not correct ?

(1) Increasing autonomy means discretion

(2) Discretion means the ability choose among alternatives
(3) Diffraction means degree offidirentiation in a social system
(4) It also means creating digegration in a social system.

49. Which of the following a is not the stiwral feature of the Agraria model ?
(1) Pre-dominance of a scriptive rppeularistic, and diffuse patterns
(2) Stabldocal groupsand vast spatial mobility
(3) Relatively simple and stable “occupational” differentiation
(4) A deferential stratification system of diffuse impact

50. Which of the following committees made remmendations on the political rights of the
civil servants of United Kingdom ?

(1) John H. Whitley Committee (2) Sir John Whyatt Committee
(3) TheMastermarCommittee (4) Lord Nolen Committee
51. Assertion (A) : Two chambers of Congress (USAje co-equal in their status and
authority, however Senate is more prestigious one.
Reason (R) :Senate has the constitutional rightconfirm executive appointments and
, judicial nominations antb satisfy treaties.
Codes:
(1) Both (A) and (R) are correct and)(R the correct exphation of (A).
(2) Both (A) and (R) are correct but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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46.

47.

48.

49.

50.

51.

SRSl WehoT ol (TeIiEd § 9 i i fafr ol §RT 9a™ ST &l 3297 § @ias & ?
(1) Sk fafy (2) arecrt fafa
(3) TRATE faty (4) e qERs

T ¥X GRT AR [T 7T & T 3TAReR § qoticAs ol Joe- I SR 68 STH & fort
feAferfad #re SRR E ;

() T 19339 STHT TSR 61 T91E

(i) ST SR I TS AT AR

(iii) <P ATSRT S TTATST T AT

(iv) a9 1945% =15 fova i § T T3 30 HT 37 qawr

e 2 T e H FETEA | el A H T HIAT

T

Q) @), (i), (i), (iv) 2) (@), (i), (iv)

(3) (@), (i), (iii) 4) (@), (v)

fog & S ER “foh WIS SHAaeT3T i gl WEmdr & Uihal § ™9 foadT & 98d @)
FRT T 1T T § 17 5 3l | fefefad § @ w98l @l g ?

(1) St T H aed Jew § |

(2) foa® 1 A fashedt & o a9+ B AT & |

(3) o= =1 areqd fordlt TSI e o fard<ieheoT ot AT § |

(4) TR IS FHATSTS FaT H foee 3aa= AT i ¢ |

feferiad o & =, Fueht Uiaee o o T2l & ?

(1) RuAE, faferedRe 3R fogd ufaamT o Jeerr
(2) T TG THE q°T S SN aeierdr

(3) TR W FAT LT eI forda

(4) Togd U H T [oHEHNT SR qoTet

frfafed § ¥ 69 |Mid 4 gARee fFTen & die Yol & Ao SIueRl & dag |
ST & & ?

(1) <= Ta. fogeet |Ed (2) WS T aHa

(3) T TORXE wmfa (4) T e |

AR (A) : FUG (TR T STARBN) F AT T8 Feafed 31X iR o 9o &, oifeh e
31fyer fdfted 987 & |
% (R) : HiHe Sl HRUCH IR a2 =M FAHE i T H a2 TRt 6 SHeT H

T GAYTh TR & |

T4
(1) (AT (R)SHT T € @ (R), (A) S T& AR ¢ |

(2) (AT (R)3HT Tt €, W= (R), (A) Hl Tel = 761 € |
() (A) T E, W< (R)TAT & |

(4) (A) T & W= (R) W& T |

J-14-16 21 Paper-Ili

www.examrace.com



52. Which one of the following is not the qualification for the President of USA ?
(1) He should be a natural born US citizen.
(2) He should have attained atleast 35 years of age.
(3) He should be a US resident for atleast 10 years.
(4) He should not have completed two terms of the Presidency.
53. Which of the following is not a feature of the Pendleton Act of 1883 ?
(1) It abolished the Jacksami spoils system partially.
(2) It firmly established the merit system.
(3) It established the Unitestates Civil Service Commission.
(4) Its actions are subject to juditreview and can be declared void.
54. Which one of the following is not the resulttbe Bretton Woods Conference held in July
1944 ?
(1) Articles of Agreement to create IMF
(2) Articles of Agreement to create IBRD ,
(3) Recommendatiorfer international cooperation.
(4) Recommended a proposakteate WTO in coming years.
55. Match List — | with List — II. SE-:-Ieclt theorrect answer from the codes given below :
List — | List—1I
(Model of Social Administration) (Originated in the country)
a. Familial model I.  The USA
b. Residuary model ii. The USSR
c. Mixedecondmympdel iii. France
d. Socialistmodel iv. Germany
Codes :
a b c d
Q) i ii i v
2 i i v i
3) it v i
4) v i
56. Gender discrimination is prohibited under whiaf the following provisions of Directive
Principles of State Policy ?
(1) Article 39 (2) Article 40
(3) Article41 (4) Article42
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52.

53.

4.

55.

56.

J-14-16

freferfaa & @ i dge T s & Tegut & et sigant 7@t € 2
(1) T T SR § i ®9 F UsT g1 AR g =fey |

(2) ST HT Y FHT 35T H MG YA A & |

(3) & T ToT STHRHT T HH T HH 10 99 H el ¢ |

(4) T T UF 6 & HEHCA B G0 T HATE |

e & & = 1883% Ueeled aifufam =i faferedr 78 € 2

(1) T SHET Sl TS-THIC TUTCA i 3797 TA T |

(2) TTH ATTAT A UM o el | TN BT |

(3) =TT TS WH Mafaet Ao HHITH i T & |

(4) THH B AMTH TATTATHT & ST & SR T ST SO fhar ST Fohell & |

Tt & & i SomE 19447 3TN sie IS8 e T R0 =& ¢ 2
(1) ST T T T TS HA & FIRATHT

(2) STORAEA YAMHIOT TS T s Sl T A & HIRAT]

(3) AR TeanT & ford fawprieey

(4) I gut H fava SR G 6 Te R S & TTe S Fawier & e

el — | 0 el — |1 9 Geferd I | it 57 77 e F el ST Bl A i
aeft — | ) T — ||

(AT T9TE % i) (ST ST gHERT 3T FI)

IRETRE Ao i. JuET

ST TR "{ ii. 7 UETE R

Tafsr StRrereen gfaa= ii. W

HHNM@ PIREIE iv. ST

oo o w

T

@ i i i v
@ i 0 v i
@) Qi i v i
@ Qi v i

T & Aifd S een dreil o fome TTa o =i wifiTeh faemar =1 oy fomar mar € 2
(1) &g=%39 (2) &% 40
() aT=T4l (4) =T 42
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57. Which one of the following is excluded frometurisdiction of the Department of Social
Justice and Empowermentp@rnment of India ?

(1) Scheduled castes (2) Scheduled tribes

(3) Economicallypackwardclasses (4) Soally and educationally backward classes

58. When was the Central Social Welfare Board established ?
(1) January, 1953 (2) August, 1953
(3) October, 1953 (4) August, 1954

59. Under National Health Missh community volunteers are called ASHASs. In this acronym
first and last ‘A’s stand respectively for which of the following ?

(1) Active and Assistants (2) Accredited and Activists
(3) Accredited and Actors (4) Active and Attendants

60. Which of the following statement is incent regarding the Competition Commission of
India ?

(1) It was established in 2003 for the first time.
(2) Itreplaced the MRTP Commission.
(3) Itstenureis 3 years.

(4) Itis a tribunal to monitor healthgompetition between thiadigenous and foreign
companies.

61. Which of the following statements about thdustrial policy reforms introduced in India
is not correct ?

(1) The number of industries solely reseryed public sector is drastically reduced to
three.

(2) Industrial licensing sabeen almost abolished.

(3) Investment by large industrial housesed a separate clearance under the MRTP
Act.

(4) A new competition law has been puplace to regulate anti-competitive behaviour.

62. Which of the following is the launatiate of Mid Day Meal Scheme ?

(1) 15 August, 1994 (2) 15 August, 1995
(3) 26 January, 1994 (4) 26 January, 1995
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S57.

58.

59.

60.

61.

62.

frefefad # 9 68 R TR o |1 =T Te SRR fovnT o er & ¥ a6l 3@l
™Y ?

(1) oFgrea sa (2) STIgrad ST
(3) 3nius w9 & fumgr o (4) TSI qe Vet w9 fUmer o

ST THST HodT0] HUSH shel T fohar 74T o1 ?
(1) SHa3t, 1953 (2) o7, 1953
(3) @, 1953 (4) &, 1954

TR T f9eF o 3Tcia Arg1ish Wadashi S 39 (ASHA) &1 a1 & | 39 gRavi ves §
wor U 3w ‘A’ SHHen Tt | 9 e o veeR gen € 2

(1) vufws ure TER=H (2) Tshiels Ug UlrRlaey

(3) Uhiecs Ue uwed (4) uiRd wwe Ty

YR FITere ST o IR § B 91 I ToTd & 2

(1) TTH T TR AT 2003 F Hf 7T |

(2) TH THTUHR X NaRIYs AN FeR (TH. 3TR21.T.) ST i ufaeenfyd fHar g |
(3) T FHEHA 3 I HTEATE |

(4) = 0 ua foRen Ut & we T ufaiirar o R 3 U et € o

fefefEd § & SF-91 o IRA | Y% U T SiifiTen ifd GuRi & ar ¥ T 7@ ¢ 2
(1) TSI & & [T = & 9 IR ST i T g Mk dF W E € |
(2) STENTTE ATCHE HOTAT I HAT & T & |

(3) =g NN BT FRT ST % foll UHTehR Ud Uidaifed SR sFeeR S & Sfd
3T W T T i bl STETAHAT ¢ |

(4) TR R i A T % g T e S S o T e |

TeATe IS IS 1 TR Tater st IpReT foham ar 2
(1) 153mTed, 1994 (2) 157, 1995
(3) 265FeRl, 1994 (4) 26TeRT, 1995
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63. Foreign Direct Investment aims at
() increase in the total voluenof investment in the economy.
(i) improving productiontechnology.
(i) increase in access to world markets.
(iv) generatingaser industrial growth.
Select the correct answer from the codes given below :

Codes :
@ (@, (i), (i) and (iv) (2) (), (iii) and (iv)
(3) (i), (ii)) and (iv) @) (), (i) and (iv)

64. Which of the following committees have sugtgg the separation of developmental and
regulatory role of théistrict collector ?

() G.V.K. RaoCommittee

(i)  Ashok Mehta Committee

(i) Balwant Rai Mehta Committee

(iv) L.M. Singhvi Committee

Select the correct answer from the codes given below :

Codes :
(2) (), (i), (i), (iv) @ (i), (i), (iv)
() (i), (iv) (4) (), (i)

65. In last round census identifieslums in India in three diffent types. Which one of the
following is not included in the categories ?

(1) Identified (2) Notified
(3) Recognised (4) Upcoming

66. The vision of the Ministry of Panchati Raj includes which of the following ?
() To make PRIs an effective, efficiesutd transparent agency for local governance.
(i)  To make rural local governmea tool for social change.

(i) To make PRIs an efficient vehiclior public service delivery to meet the local
aspirations.

(iv) To create a vibrant interface betweea BRIs and rural peoplerough Gram Sabha.
Select the correct answer from the codes given below :

Codes :
@) (@, (i) and (iii) 2) (), (iii) and (iv)
3) (@), (i), (i) and (iv) 4) (), (i) and (iv)
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63. faeel ue FomT 1 2w €
() sreicgaen § FasT &t ot aer | gy HEn
(i) 3R WRNfTR § R HET |
(iii) Tova IR qF UET | ghg HET |
(iv) eI 3i=nfiTes forepra Gistd e |
T 52 T3 T il FerEdT ¥ Tel IR A T B ;
FT
1) (), (i), (i) 3R (iv) 2 (i), (iii) =R (iv)
(3) (i), (iii) =R (iv) 4) (i), (i) 3R (iv)
64. T=fafEd ¥ ¥ T afafaar 3 ot woteet @i fosmeTs q=n faf=mes e & gaemoT &
e fear g ?
(i) S & & g am
(i) 3w Hear |Efd
(iii) o T Hed |t
(iv) e um, R @t
T 13T et H ¥ HEl IR 1 TG DT
A
) (@), (i), (i), (iv) (2) (i), (iii), (iv)
(3) (i), (iv) 4 (), (i)
65. TUmel SR & SHIUAT § WRT | Afci afeqar &t i TRl § Ued H T | et § 9
I T Ao | eniee 6§ 2
(1) e (2) afagfad
(3) WA (4) WA E
66. TT=faiEd § F I Yomad I T i et § e & ?
() O ST M S T 9 % ol TTe, We 3 IRESI $ehTg S
(i)  TTHIOT R I St AT URa o ot Qree ST
(i) T AT H SHETS B G A b TS Ah Y IRSH & Tt I FEE 6
HETH dled g1 |
(iv) U T % HEEE H U IT ST q9T UTHIOT ST % S Stied ST S
EZGII
T 52 e FF Teraar & Wt ST N TG HIT
A
1) (), (i) =R (i) 2) (@), (i) 3 (iv)
(3) (i), (i), (iii) 3R (iv) @) (), (i) 3R (iv)
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67. Which of the following instruments areagkin the process of social audit ?
()  Open hearings in public meetings
(i) Campaigns of voluntary organisations
(i) Right to Information Act
(iv) CitizenCharter
Select the correct answer from the codes given below :

Codes :
@) (®, (i) and (iii) (2) (i), (i) and (iv)
3) (@), (i), (i) and (iv) @) (), (i) and (iv)

68. Assertion (A) : India’s rural development agendastdl devoid of bottom up approach.

Reason (R) :Trust, empathy, aspiration and emmoment are the key to improve the
lives of rural communities.

Codes:

(1) Both (A) and (R) are correct and)(R the correct exphation of (A).
(2) Both (A) and (R) are correct but (R)not the correctglanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

69. Arrange the introduction of following developmt programmes in an ascending order by
using codes given below :

() Atal Pension Yojana

(i) JawaharlaNehruNational Urban Renewal Mission
(i) Indira Awas Jojana

(iv) Deen Dayal Upadhyay Gram Jyoti Yojana

Codes :
(1) (i), (i), (iv), (i) (2) (i), (i), (1), (iv)
) (i), (i), (), (iv) (4) (i), (iv), (i), (i)

70. How much weightage is accorded to the papoh as per 2011 Census by the Fourteenth
Finance Commission in horizont@évolution formula devised for allocation of funds to a

state ?
(1) 25 percent (2) 17.5 percent
(3) 15 percent (4) 10 percent
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67. WTHISTEH 370 i Ufshal B fEAfeiEad § | iF-d SUsh0T T FaNT fohar ST € 2
() TSt Twret § el gaTg
(i) s e & @
(iii) ST MHR STFEw
(iv) R AR
e ST 7T P2l ° ¥ el 3T BN T HINIT ;
% :
@) (), (i) == (iii) @) (i), (i) 7= (iv)
(3) (), (i), (iii) @ (iv) (4) (i), (iii) = (iv)
68. U (A) 1 TR & AT forere Teter # andt o S (e & ) gfeson wmfer T ¥
% (R) : Tavema, Tamyf, amwww%ﬁwmmmﬁ%aﬁaﬁ%waﬁﬁ% |
% :
(1) (AT (R)3HT T&l & @ (R), (A) Sl 98 AT |
(2) (AT (R) 3T Tt €, W (R), (A) H Tt =1 &l ¢ |
(3) (A)WE§, W (R)Ted ¢ |
(4) (AT €, R (R) Tl ¢ |
69. Fr=fefEd far SEHa F IF F STH & Ga | A9 53 7§ & Tear ¥ 576 AR
HY T AT DT
() 31eeT UeH AT
(i)  STOTERCATT &% AL Il AAhoT e
(i) 3= STrET AT
(iv) SF AT SUTEATE U S A
%
() (i), (i), (iv), (1) (2) (i), (iii), (i), (iv)
(3) (i), (i), (i), (iv) @) (i), (iv), (i), (iii)
70. Tl T o ford fAfy seifed od Tm disgd fad 3TN 5T ST T &ifdst 37aRor 9 # 2011
I STTOAT o SFAR SHEEAT i H=AiThd o 9 fohar Heee far mar € 2
(1) 259w (2) 17.5ufeE
(3) 15ufaera (4) 10vfeTa
J-14-16 29 Paper-Ill

www.examrace.com



71. The concept of ‘Public Policy’ isot dealt by which of the following ?
(1) Harold D. Lasswell (2) William Dunn
(3) William A. Niskanen (4) Thomas R. Dye

72. Which one of the following statement is a characteristic of systemic agenda ?
(1) Itis also known as ‘action agenda’.
(2) Itis relatively more specific and concrete.
(3) Itrefers to all social problems that demand public attention.
(4) It contains a set of problemnequiring serious consideration.

73. The ‘most senior civil servant’ in a depaent of United Kingdm is designated as
(1) Principal Secretary (2) Permanent Secretary

(3) Speciaecretary (4) Cabinet Secretary

74. Match List — | with List — II. Select theorrect ansvyer from the codes given below :

List — | List — II

(Country) (Central Planning Machinery)
a.  GreatBritain i. No centralised planning Body
b. U.S.A. il. Ecﬂonoinic Advisory Council
C. France iii. ?I?nﬁin@ommissariat
d. Japan iv.==Economic Planning Agency
Codes :

a b c d
Q) i ii i v
2 i I | VAR
3) i v ii
@) v i i

75. Which one of the following schemes prowdénancial assistancé rural poor for
construction of their houses ?

(1) Indira Gandhi Matritva Shayog Yojana
(2) Indira Awas Yojana

(3) Rajiv Awas Yojana

(4) Jan Awas Yojana
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71.

72.

73.

74.

75.

feifera & 9 fohem ‘Arep it o1 Fae el o € 2
(1) &os . AHad (2) fafeem eq
(3) faferaw w e (4) o/HT IR, TE

frfefad & | I |1 F HEATTd HIEgE i U a9 & ?

(1) =9 TpaTcHs SEgE % T H of STAT ST e |

(2) TE qOHIES €T ¥ ST AT 3R AW edr ¢ |

(3) T 37 Wt GrISTh TS i faffge wedr & 9 W S eamehyur ST € |
(4) TTH GHENS P FHE AT € 5 W TRIRAgd S foaR e Bt ST |

FATEeE T & faumT & wed aitee dish Yae ot Fifehd § 9 foh A @ a1 fopa e & 2
(1) forddoet Sshed (2) TREH= el
(3) T skt (4) T Seped

gﬁ—laﬁgﬁ—ll%wgﬁﬁﬁaﬁf‘mﬁﬁﬁﬁm%ﬁﬁm@@émmwaﬁﬁq:
= - | = - |l '
(&m) (st Foraiter =)

5z foe . g e fe A
JUET, i GeeeR uRkeg
Ean] i ;??QW

ST iv. et T St

/
e
F

Qo o w

T

@ i i i v
@ i i v
@) Qi v i i
@ v i i

frefafed & @ SH-9 @i & =T AT TR B THF aHH o e S WaE
fopar T & 2

(1) 3= e AT e A
(2) == STE AT

(3) TSIHE 3METT FSHT

(4) SF 3E™ IS
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